Costs and Returns for Organic and Conventional Field Crops:  which is more profitable?

Use the “Adapting Crop Share Agreements for Sustainable and Organic Agriculture” publication to answer questions 1 and 2.  

1.  What are the total input costs for 5 years of conventional corn-soybean production?

2.  What are the total input costs for 5 years of organic corn-soybean-corn-oats-hay production?   

3.  Look up average yield in your county for 

Corn _________
Soybeans_________  

Oats_______
      Hay______

4.  Look up prices for conventional

Corn _________
Soybeans_________  



5.  Look up prices for organic

Corn _________
Soybeans_________  

Oats_______
      Hay______

6.  Figure out the gross income per acre for the conventional corn-beans rotation over 5 years (average yield for corn times price of corn times 2.5) + (average soybean yield times price of soybeans times 2.5)  

7.  Figure out the gross income per acre for the organic corn-soybeans-corn-oats-hay rotation over 5 years, assuming organic yields are 10% lower than conventional (this is a conservative estimate): (average corn yield x 0.9 x organic corn price times 2) + (soybean yield x 0.9 x organic soybean price) + (oat yield x 0.9 x organic oat price) + (hay yield x 0.9 x organic hay price)

8.  What is the net income over 5 years for the conventional corn-bean rotation?

9.  What is the net income over 5 years for the organic rotation?
Key to Costs and Returns for Organic and Conventional Field Crops:  which is more profitable?

1.  What are the total input costs for 5 years of conventional corn-soybean production?


$1,792.13   

Input prices change over time.  If your students can find current prices, that is even better.   

2.  What are the total input costs for 5 years of organic corn-soybean-corn-oats-hay production?   


$1,97.05

Input prices change over time.  If your students can find current prices, that is even better.

3.  Look up average yield per acre in your county for    2005 average Wisconsin yields

Corn _148 bu
   Soybeans__44 bu  

Oats_64 bu_
      Hay_2.18 tons_

4.  Look up prices for conventional    These will vary over time.  August 2007 prices:

Corn $.3.32
Soybeans $7.67 



5.  Look up prices for organic

These also vary over time.  August 2007 prices:

Corn   $11.00  
Soybeans  $15.00 

Oats  $4.75
      Hay______

6.  Figure out the gross income per acre for the conventional corn-beans rotation over 5 years (average yield for corn times price of corn times 2.5) + (average soybean yield times price of soybeans times 2.5)  

These answers will vary depending on the prices used.  For the prices cited here:

$1,228.4 + $843.7 = $2072.1 per acre over 5 years

7.  Figure out the gross income per acre for the organic corn-soybeans-corn-oats-hay rotation over 5 years, assuming organic yields are 10% lower than conventional (this is a very conservative estimate): (average corn yield x 0.9 x organic corn price times 2) + (soybean yield x 0.9 x organic soybean price) + (oat yield x 0.9 x organic oat price) + (hay yield x 0.9 x organic hay price)

$2,948 + $600 + $275.5 + 200 = $4,023.5

8.  What is the net income over 5 years for the conventional corn-bean rotation?

$280 or $56 per acre per year.  This net income reflects the high corn and soybean prices of 2006 to 2007 and is significantly higher than the average net income from 1990 to 2005.   

9.  What is the net income over 5 years for the organic rotation?

$2,226.5 or an average of $445.3 per acre per year.  This net income reflects the high corn and soybean prices of 2006 to 2007 and is higher than the average net income from 1990 to 2005.  

------

Once the class has finished the worksheet, discuss the findings.  

How would net incomes change with different input costs, prices, or yield assumptions? 

For example, what happens if the historically typical prices of around

$2.20/bu conventional corn and $5.00/bu conventional soybeans and 

$5.50/bu organic corn and $11.00/bu organic soybeans 

are used?

Given the higher net incomes for organic grain farming that this exercise shows, why don’t all grain farmers convert to organic agriculture?

· Many farmers don’t know this financial information

· The organic costs and yields in this exercise are drawn from established, experienced organic farms.  During organic transition, costs (especially labor) are likely to be higher, yields will probably be lower, and the farmer will not be able to get organic price premiums.  Three or more years of higher risk, more labor, and reduced yields (and therefore reduced income) are a significant deterrent to most farmers.  

· Farmers are concerned about the time and effort needed to master a different farming system

· A dislike of having a certifier (or the government) “look over their shoulder” and tell them how to run their farm

· Concern about what neighbors and family will say or think; a sense that organic agriculture is for hippies

A lack of infrastructure supporting organic agriculture in many places.  Organic premiums may be great, but if there is no organic buyer or processing plant in the area, the premiums may be swallowed up in transportation costs or the farmer may have to sell on the conventional market.  Also, it can be difficult to get organic inputs and technical advice.  
